} [pb,GeV ]

Ratio to ATLAS

dsqrt{

d 6
.
ON

8000 GeV pp Z (Drell-Yan)

i | T T T T T 1%
= 1=
= 11t 5 O
- Splitting scale\/dﬁ6 (71 <m <111 GeV) 3>
_ o
= —3
= =3
~ NI
M”#"i‘ﬁ\ﬁ __8
= 8. 55
— \% Tm
| % = 5
= .=
= §} =
— m ATLAS =
= [ Pythia 6.425 350 =
~ --4-- Pythia 6.425 351 1=
=— - Y- Pythia 6.425 352 —= %
= A~ Pythia 6.425 353 =hE
[ --0-- Pythia 6.425 354 _:§
= -~ Pythia 6.425 355 Ei
I = Pythia 6.425 356 1%
= Pythia 6.425 357 ==
~ Pythia 6.425 358 3¢
__ --=-- Pythia 6.425 359 18
— =
3 ElS
B 1a
(@]
? | | | | | | | | | | | |_§ E
i T T T T T T T T | T T T -
- 32
1
o 105

sgrt{d_6} [GeV]



	Contents
	Page 1


